
Thursday 4th February 2021 

L.O: I am getting better at drawing pictograms. 

 

Today in maths we are going to be drawing pictograms as we did yesterday.  We 

will be looking at the key very closely as today the pictures will not all equal 1, 

they may equal 5 or a different number.  To do this you will have to think about 

division and which number goes into the total, for example if you have 40 cars, 

you would think 40 ÷ 5 = 8, 40 ÷ 2 = 20.  In this case having one car signifying 8 

cars would make the most sense than having 20 cars signifying 2 cars. 

 

For example 

Favourite fruit  Total 

Apple 

 

20 

Banana 

 

45 

Orange  5 

Key 

= 5 

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Can you use the information from the tally chart to 

complete the pictograms? 

Can you use the information from the tally chart to 

complete the pictograms? 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Can you use the information from the tally chart to 

complete the pictograms? 
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